)@ 1@ (Vo6 U3

Que.1. ABCD 630 al@3@@26M. AB = B0 ©M.2°). AD = 45 &.2°l. o @YeM.
a) 2lOOOM 100 2NQSN af)(10)?
b) 2l@ET 16N alPASN] BHEMBNIBE D>

D C

Marks : (4)
Ans. 2080 = 2( VB0 + 35 )
=2( 45 + 3\5)
= 145 cm
b) a8 = B0 x V45
= 445 x 345
=12x5

=60 sg.cm
Que.2.

45° B

Cc E

2N@OMN©3 AC = 5 6)0NV.°). <B = 90°,<C = 45°

AB @)6)S M1830 af)(10)? (2 BUBI0UD MINIMO (UEID HrLMIAIW af)PITNDs)



Ans.

5

AB = V2

] V2
- '.,'2 X ‘-;'2
~ Sx1.414
B 2

7.070

=5 = 3.535 =3.54 cm.

Que.3.

B

2NOO®N@3 <A = <C = 90°, <ADB = 45°, <DBC = 30°,BD = 86)T0.2°). @6

a) AB Q&S M180 a)00)?
b) ABCD Q&S 2NQ8N af)0MIEM?
) ABCD Q&S al@al80l af)mo6n)?

Ans. AB = E = 442 cm
AD = 442 cm
CD=4cm

BC = 4xv3 cm

DJQQ@():T= 442 + 442 + 4+ 4473
aled8Ni = 16 + 813

Que.4.

Marks : (3)

Marks : (5)



yd

o [l
B

A p

2 lOO01@3 AB = 2 6)00.2°l. BC = 3 ©00.2°., <A = 90°
a) AC @)6)S M 180 af)(10)?
b) APQC af)(M (A1 16)R al@a]80 af)@mMI6N) ?
0) 5 2l OTV.27). AlEUSNNSS 6303 MAIMYO0
UOWHNB?
Marks : (4)

Ans. 5 cm

5cm

ABC af)(M (@ 1GH96Mo (U@WH630M)

MDD QDB

Que.5. ABCD af)M MA@ 10M 630} @MDY 16)0 M0 5 HV.2.
@y6M.

D C

a) aVA 2O 160N B3®) AUWOD 160 M180 af)MIEN)?.
b) MDA 2UOEOM 16N 2 ROBN af)aMI6M 2.
¢) MD 2O 16)R al@]SBN HIEMBONIBE)Es
Marks : (3)



45 20

— - —= M

V2 Y2

> > = 25/2

7 X N sq. cm.

Que.6. 21(M@M @3 ABCD 63(0) MVD2I@OAIGN).P,QR,S af)0N 10U (IUD6BRB)OS
QWL6nNN3) HOSBIEM).

a)AB = 2 ©(M.2°l GHQIM3 ABCDWYAIS

SEEESEEEEEEEEEEEE Q

A P B
a8 BHI6M)ds
b)PQRS )M 2IONBRIROM 16)M al@SNO af)aMI6N)?.
o) PQ (flom M180 ag)00)?
Marks : (3)
Ans. 4 sq.cm

2 sq.cm

\Zcm

Que.7.a) (V5 + V3 ) (V5 - V3 ) = cveeenes

1

1
b)m+m= .................

1 1

c)mx:ﬁ= ..............

Ans. a) 2



0 V5
c)1/2

Que.8. a) 630 MoKUIWIOSWIo @M 16)0 MU L@ (HHADD 1GM@o UREMMaNLlo
) MI6NT?

b) VII + V10, V11 - v10 ©U@ES EMMAaNLIo af)TMIEM?
0 V11 + V10 ©M QULTB(EN0 af)MIEN)?
Marks : (3)
Ans. a) 1
b) 1
Q) V11 - V10
Que.9. 30} 2lNEOD 16M AU MISECOMHNIUB 4 HOV.A. B:3NCUI6NM).
Ml8o V11 + 2 @yem.
a) U1 af)(0)?
b) al@OOM16M 2ROSA , al@e]80 DN HHEMBOIDEND:
Marks : (5)
Ans.a) W@ = 1T +2-4= 11 -2cm
b) 2R8I =2 ( {IT +2+ V1T -2)
=2x2x {11 =4 {11 cm
0 a8l = (VIT +2)( V11 -2)
=11-4
= 7 al.6X0.07)

Que.10. alJOUAS 6)dHISIOTNUQ (G 10211 @ 121008 ag) SN @EMo6Y Y
& 1S90 aBO)?

VEey3)

a) (\.E w0 E, 2w T,

v

3l %

FvB W12 Wb 30

b) [n-'z' V3T WG al
Marks : (2)

Ans. Q) 2=

Wi

b) V2



Que.11. 2/ (@O T3 6210 1QAVA LT 10M 630} U 16M M180
1000 1A10@ @yeN). @ 16)M (i 1d:@6Mo NUUAMIW ] @RSITM TVA B0,
@@ 16)M (il @eMo UWMIW ] @RSYOT MVA2IM)00,.. af)(M 168136)M
MVD.AIOEBRUE CUHEN M. B6BRHM NUDHINM VA IMY6BRE 113

a) QENIDED) MDD OM alRaSENU(®?
b) GRBIOO 6 MN2IMOEBBEIOS alOASBUIBUT BIEM)Hb.
) @RBLEDV 6 MVAIDEBRSIOS (UWDEBBRUT af)PIONHs..

€) al@OMINBDT) MDD 16)Y 630} U 16M Ml80
1M Mo6U s @I 1@ 1863BMI? al@® 16)XMIMIMBDMD) 1GMEMI?

d) @YBLOOD 4MVDIDONOEBBEIOS 2NOBNNEUT af)PYMDs.

Marks : (5)
Ans. a) 2
b) 1,2,4,8,16,32
Q) 1,422,247, 4,443

d) @D VA LIMOOT 16)Q 63(0) UWOE 160 M0 EltMaVos el
@ 16MIMINBOD® 1GMD® @R)6N).

@) 4.4vE 5,5y

Que.12. viz=vizi=ni

VIS = i 2= 12 o) 16B836)MN af) P30

2ROUOS OBHISYDBNV0EU SIS HDGaIIGL! @alo MIQT af) LMY
(i) (ii) V73 (iii)van

BIORIB)O 186>



(i)¥78 = v200 — /50
(i) ¥12 = VT = v
Marks : (5)
Ans. a) w1
b) 53
C) 1
d) 37 4 10v7 - 53 = 63

@) 2v x Bl x fivT = 1Ay2



